3. R A D B LR TR 2 5 4]
5 B st it AHEE
= A A A A -mSv
R (mSv) (%) (%) (%) (%)
. 77 081 758 77 569 5578 1
(85. 3) (91 4) (85. 4) (52.0)
— 2 244 39 2 283 3.110.0
1Z@A2AT (11.2) (7.3) (11.1) (29, 0)
— 197 7 504 1202, 8
2ERAIAT 2.5) (1.3) 2.5) (11.2)
— 135 0 135 1607
SERAMAT ©.7) 0.0) ©.7) 4.3)
— 33 0 33 1474
AERASUT 0.2) 0.0) 0.2) (1.4
R 20 0 20 220, 7
PEHATSUT 0.2) 0.0) 0.2) ©.1)
— 0 0 0 0.0
1.5z @AT0AT (0. 0) 0. 0) (0. 0) 0. 0)
— 0 0 0 0.0
10Z@A LT 0. 0) 0.0) (0. 0) 0.0)
—— 0 0 0 0.0
ISZEA20LT (0. 0) 0. 0) (0. 0) 0. 0)
) 0 0 0 0.0
NEEAS 0.0) 0.0) 0.0) 0.0)
ey 20, 030 534 20, 564 70.719.8
(%) (100.0)]  (100.0) (100, 0) (100. 0)
BE2 DA 20,030 534
A (%) (97. 4) (2.6)
gy
ikl 0.5 0.4 0.5
HEE
SHak 10. 503. 3 216.5]  10.719.8
gy
AR 6.7 2.9 6.7
EI2: A

o BIZIX, ER2 SHFEEFHCEITS 5
(EAESN $ﬁ25$@1ﬁﬁﬁﬁ%%% ZiT-o7-%
2mSvEA F CThHoT-EMN 2

$J®ﬁgfl%ﬁ22uTJ®F2
MET, FOBED 1nSvE iz
244 NTholzZ taRLET,

. Wik 2 743 H 3 0 HEIEDRGRT — & Z FITHEFH L TnET,

244 )




